DNA, RNA, PROTEINS STARTS WITH ? Name l IK ¢4 /

s
- DNA that is spread out in the nucleus of a non-dividing cell so it can be read is called
Lok L O HATILN.
2. The group of 3 nitrogen bases in the mMRNA message that is read together is called a
£ 0 bON
3. In dividing cells, the DNA is scrunched into _C_ i /&~ © ™ 0 § © R E J 5 it can be moved.

when it makesa P £ © 7 L I N
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N U € L E 1 <« _A € 1 BbS (like DNA and RNA) are made by joining
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9. T L A NS FEFARNAhasan_A_N T ¢ ¢ o o © N pegion that matches the
codon on an m-RNA message.

10. The process of making an RNA message from DNA is called _
T P ANS c & i pT 4 0N ondithoppensinthe N U € ¢ E Y J,

11. R I B © S 0o M A LRNAismadebythe N U'C ¢ £ © & U S and joins with

12. Another name for protein synthesisis T R A N S L AT 1 © N

¥13. s Y BJS T | T YT 1+ © NJ are chromosomal mutations in which one nitrogen base

replaces another in the gene code.
. _¥4. 3nor4nplants with P 6 &« Y Pt 6 ( D Y are bigger and stronger, but humans with this
condition don't survive.
15. U_R A < | L is the nitrogen base NOT found in D~ A and T_H Y 01 N E s

16. Nitrogen bases made with_O_ ~ £ ringarecalled P_ Y 2 | n | b1 N ES and

e — e — s — — —— e e e ——— —— ——

18.In _6_ % | F F 1 T H's mice-pneumonia experiment, lethal bacteria passed genetic material

19. According to _C_ H- A £ G A F £ 'srules when making DNA, _A_ D £ M _( N £ qalways

bondswith _ T_H Y »n | ~ L and_€C Y TO S | MNE qglways bonds with

B LR NL N E 5
20. Viruses that infect bacteria (like the oneusedin H_ £ £ S HE Y - ¢ #H A S E g

. blender experiment which proved DNA was the genetic material) are called




NAME

REPLICATION, TRANSCRIPTION, & TRANSLATION REVIEW

.EPLICATION

Use the DNA code provided and fill in the complementary DNA strand.
Which nitrogen base CAN'T you use during replication? __u<ac: /

ATTCGATGC TACGGATCG CAGTGACTT
TAAGCTACG AP Ce'T AGC 6 TcCcAC TG AA
TRANSCRIPTION

Use the DNA code provided to copy an m-RNA message. '
Which nitrogen base CAN'T you use during transcription ? _1hym ( 1%

ACTGG6ATAC ACGG6ATCGT TE6ACAGCTA
VGACC JVAUVG VGCcY AGC A AC VGUC G AU
TRANSLATION:

USE the DECODING WHEEL to
DETERMINE the AMINO ACID that
orresponds to the m-RNA CODE GIVEN

Which amino acid has ONLY ONE codon
that codes for it?

m L')‘"'\ l.O M a.n < ILJ"(;:['}C)'/”‘“"}

mRNA CODE AMINO ACID
AAA [ysine
6C6 alanine
GAU aSpe-ti'c acid
CAA alutermine |
CAC 'j/-, Stidine
vuu Phcnjl“!mt'ﬂe/

Which two mRNA codes correspond to
histidine?

cav CAC

How many different mRNA codes
correspond to Threonine?




Tell the amino acid sequence for the following mRNA message:

MRNA MESSAGE: AUG[ CCA usefCAu
<
smino acid sequence:
methionine— - prr;»/: > - t-yptopha, - hist dine

- Staf

Look at the m-RNA message below:
PUT A NUMBER under each of the t-RNA/amino acid complexes to show the correct
sequence that they would attach as this message is read.

phenylalanine leucine lysine methionine

AUGUUCAAACUG

mRNA

4
) &
VHAT IS THE AMINO ACID SEQUENCE FOR THE PROTEIN THAT WOULD BE
PRODUCED FROM THIS MESSAGE?

lysiae.

methionine = ID“]%?/M&*-N-" e - __w - /edc}fqe_.
—§tat"

FILL IN THE INFORMATION BELOW with the correct sequence

DNAcode TTACGCGCA ‘ DNA code CCGAATCGT
mRNA message A AU GCLGCGU mRNA message G6G6CUUAGCA
DNAcode ACAETCG6GC DNA code GACCGATGOGT
mRNA message _ U GO C AGCCG mRNA message CUGGCUACA

\




This process of protein synthesis is also called Fra~glation

Another name for a protein chain is ol e
-y
What if a mutation caused a change in the code so the message read UGG instead of UGC?
How would this affect the protein produced? _ _
C_yj’/'u'-- e would _be “ep laced Pl ?L,—;,'p 'fz)',ohﬁn
—2 ¢ Llﬁ.r\.j el pro e
What if a mutation caused a change in the code so the message read 66A instead of 66C?
How would this affect the protein produced?
bf.}'ﬂﬂ (cDG(C- 7%‘ gj""""""', Jo -f‘ﬁe/e_ Lacicl ée
Ao //dé leonq
MATCH THE PARTS IN THE DIAGRAM
A 7 . WITH THE CORRECT LABEL.
Ill-l._.l:-.'f : ,;._‘;.
e Jﬁ;;‘[ C  RIBOSOME
T o e A Nuceus
Asparagine D -
g B MesSENGER RNA
ol __ ’ __5-_.;..- -
( £ ANTICODON
i v _( AMINO AcID
MU GAUIARA] T e el b st
x;‘w’ F_ copoN

D TRANSFER RNA

What will happen to D after it drops off its amino acid?

490y back 4o cyfoplasm 12 pick opf ancthe- a.a.
What will happen to B after its message is read?

mayv Go 1o GroThe— r.boOSO™meE f'd be /e:-.a/ =
’ J




NAME

DNA, RNA, and PROTEINS
< Chapter 12
MULTIPLE CHOICE:

The three bases on the tRNA molecule that are complementary to one of the mRNA codons are called the

A. message matches
("B, Janticodon

E C. promoter

D. exon
E. intron

According to Chargaff's rules, which nucleotide is always paired with Adenine IN A DNA MOLECULE?
A. Adenine
@ Thymine
C. Guanine
E D. Cytosine
E. Uracil

Ribosomes are made out of
A’ ( A) RNA and proteins

B. phospholipids and proteins
4, C. glycoproteins and lipids
D. DNA and proteins

DNA replication results in two DNA molecules,
A. each with two new strands
B. one with two new strands and one with 2 original strands
D C. each with two original strands
@ each with one new strand and one original strand

Which type(s) of RNA is/are involved in protein synthesis?
A. t-RNA only
B. R-RNA only
D C. r-RNA and m-RNA only
@ all 3 kinds of RNA are involved in making proteins

Where in the cell does transcription take place?
in the nucleus
B. on ribosomes in the cytoplasm
A C. in 6olgi bodies
D. on the nucleosomes

Where in the cell does translation take place?
. in the nucleus
~ é on ribosomes in the cytoplasm

B C. in Golgi bodies
D. on the nucleosomes




% DNA wraps around histones to form bead-like structures called
A. introns

B. exons
D C. ribosomes

@ nucleosomes

How many codons are needed to specify THREE AMINO ACIDS?
A3

.- Gis

D. 12

What did the Hershey-Chase blender experiment help prove?
A. DNA is a double helix.
B. Pneumonia causes dead mice.

D C. Histones are made of DNA.
@ The genetic material is made of DNA.

The molecule that caused transformation in Griffith’s pneumonia/mouse experiment was

(A) DNA
B. a bacteriophage

A C. a protein
D. RNA

Nitrogen bases with only 1 ring are called
A. nucleosomes
B. purines

C @ pyrimdines

D. histones

MATCH THE PROCESS WITH ITS DESCRIPTION:

TRANSCRIPTION  REPLICATION

TRANSLATION

TRASCRIPTION Making an complementary RNA sequence from a DNA code (DNA > RNA)

RE/LicATION Making a DNA copy of a DNA molecule (DNA > DNA)

T AANSC py 710 Making proteins from an RNA message (RNA - protein)

* * *x *x *x x * * * x * * x *x x
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Use words from the word bank to match the following:

< messenger-RNA transfer-RNA ribosomal-RNA
m RNA Carries the DNA code from nucleus to cytoplasm
r KENA Made by the nucleolus
"¢ BN ﬁ' Adds the correct amino acid to the growing protein chain
r ENA Combines with proteins to form ribosomes
m ENA Has a CODON region
€LNMNA Has an ANTICODON region
€ VA
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COMPARE AND CONTRAST

CHROMATIN CHROMOSOMES

; ; DWVA cam be read — —
What are DNA/proteins doing? PN e b G015 thro midasy
Type of cell seen in? Inte—phalc Mitfasig

DNA RNA
Double / Single stranded? dooble Sing le
Sugar used? de,oxy A boie ribose
List all nitrogen bases it has A TG AdJCG
Which nitrogen base is missing? (J r it
{ .ocation in cell? hveo ("*“J necleoy - f#ded g,
~’

SHORT ANSWER:

Name the 3 parts of a nucleotide molecule:

A § vsa.—

phaphate

N base

THINK ABOUT IT: Use what you know about heat and enzymes. (Chapter 1)
Why do you think heating the lethal pneumonia bacteria in Griffith's experiment killed them?

fjﬁﬂa.fvféd e A Cé.—-ako__ dau-,) -

h&Cd Crdy e Fo (il g

USING ANALOGIES:

Sides of the ladder ?

Rungs of ladder ?

If a double helix is compared to a "twisted ladder”, which would the following represent?
SO~/ photphates

N baijses

Glue in the middle that holds the ladder together?

AL éarO/J'
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